Typical Detail — Timber Frame Wall External Insulation — Base Fixing

Bxisting floor

00000 OKINAODOOOCOOOOOO0O

Ejot TKR case-hardened, carbon steel, selftapping screw
with Bravoll TIT washers, 4 8x110mm, 60mm washer

WBS Dashing Aggregates @
WBS DASH RECEIVER WHITE: K REND @
Silicone Dash (¥hite)

WBS SCRIM ADHESIVE: K REND HP12 Base Coat
reinforced with WBS Scrim fibreglass mesh

VWBS phenalic foam: 80mm KINGSPAN Koolthern
K5 External Wall Board

WBS Cavity Spacer Rall, galvanized steel @
top-hat rail 22¢48mm

CPB min 10mm/Marine-grade Plywood min
12mmyCSB min 11mm

Existing timber frame

R-CCP-4550 hardened screws for STF @

supperting walls 4.5x50mm
Ejot TKR case-hardened, carbon steel, selt-tapping screw
with Bravoll TIT washers, 4 8x110mm, 60mm washer

R-0OCP-5100 hardened screws for STF
supporting walls 5.0x100mm

NB: Fixing into substrate must be silicane sealed
o ensure water tightness

Existing floor substrate

SOCOTEC Spit HIT M 6-5/32F

cenfres

10mm holes drilled at 150mm cts
through starter track to afferd drainage
WBS EVO-STIK silicone sealant

TRUELINE Bellcast Drip bead fixed &t 300mm @

NOTES:

1_WETHERAY RagRail KIWA systerm

. VB3 Cavity Spacer Rail, galvanized steel top-hat rail track 22¢43mm, slotted and sideways perforated rofile, screw fised through sheathing
board into existing timber studs to create cavity behind the insulation boards. Vertical rails should be fiked at maximum 150 mm or 200 mm
centres, additional spacer support rails shall be installed aroLnd operings. Fire performance: European dass B-s1, d0, in accordance with BS EN
13501-1., chynamic wind Lplift up to 3 ki/ma, Compressive stress at 10 % deformation at 70 kPa

2 WETHERBY WBS Epsican Insulation system as per specification.

. Insulation Bedding Adhesive.

. WBS phenolic foam: KINGSPA M Kooltherm K& External Wall Board

. WBS sealing tape: ia Cellular Foams VITASEAL Foam Y SRE00 3-7.
. WBS Lamella ROCKWOOL fire barrier (fagade)

. WBS Scrim fioreglass mesh: ADFORDS reinforcing fabric

. WHS SCRIM ADHESIVE: K REND HP12 Base Coat

. WBS DASH RECEIVER WHITE: K REND Silicone Dash (White)

. WBS Dashing Aggregates DERBYSHIRE AGGREGATES.

. SEALANT. BOSTIK EVO-STIK Building Silicone Sealant

3. Propristary system fixings
Bawdolyg R-0CP-4580 hardened screws for STF supporting walls 4.5xS0mm, Threaded OSB/Chipboard screw with cotirised head oeometry with
urrderhead autting ribs and couble core head, Recess P22, Min, irstallation depth 18mm, Min. sLbstrate thickness 36mm, Min. spacing 3trmm, Min, edge
distance 30mm

Rawiplug R-QCP-5100 hardened screws for STF supporting walls S.0x100mm. Threaded OS8/Chirboard screw with optimised head gecmetry with
urderhead outting ribs and couble cone head, Recess P22, Min, irstallation depth 20mm, Min. substrate thickness 40mm, Min. spadng 30mm, Min. edge
distance 30mm.

Ejot TKR case-hardened, carbon steel, sefi-tapping screve with Bravoll TIT washers, 4.5¢11 0mm, BOmm washer/anchor. Anchor: BRAY OLL TIT B0¢5-20,
Washer diameter. B0 rom, Minifum ernbedrmert nor: 20 - 40 mim, Anchor body material shock-resistant polypropylens, Approval: 090-006720 TZUS
Czech Republic. Screw material: C hardened steel, Ciimad ted — high-quality coating to improve corrosion protection (13 Kesternich eycles,
DIN 50018, 1997), hugle head. Diameter: 4.8 mm, Driling capacity: 1.5 mm, Drive: Cross recess PH 2. Pre-assembled screw, high lackbearing
capacities. Minimum spacing: 100mm, Minimom edge distance: 100mm.

Ejot TKR ZT6 cage-hardened, carhon steel, sel-tapping screw with Bravoll TIT washers, 5.9x140mm, 60mm washer, Anchor: BRAVOLL TIT B0/5-20,
Washer diameter: B0 mi, Minimum embedment nom: 20 - 40 mm, Anchor body material: shock-resistant polypropylene, Approval: 090-006720 TZUS
Czech Republic. Screw material: Case-hardened steel, Climadur-coated — high-quality coating 1o improve carrosion protection (15 Kesternich eyeles,
DIN 50018, 1987), bugle head. Diameter 5.5 mrm, Drilling capacty: & mm, Drive: | drive T30. P screw, high load-beari
capacties. Minimurm spasing: 100mm, Minimurn edge distance: 100mm.

Fix insulation hoards as per Manufacturer's recornmendation. Fit tightly board edyes together.

4. TRIMS, BEADS as per specification

. JRUELINE metal stop heads,

. TRUELINE Bellcast drip beads.
. JRUELINE Movement beads.
. JRUELINE base beads,

. TRUELINE stop beads

. JRUELINE Corner beads

. JRUELINE Oversils

. JRUELINE Trims & flashings

Fix hieads and trims at all joints, junetions and perimeters, straight and with a constant projection.
5. Refk retained services and fitihgs as per drawings and speeification, use EW1 proprietary fixing
SWIFIX SWI-ST tubefspacer

SWIFIX SWI-TT tap fixing tube with expanded collar

SWIFIX SVl dish pad mounting plate with 4 point fixing sleeves EJOT TORX T40FID


https://www.wbs-ltd.co.uk/wp-content/uploads/2019/10/BBA-Cert-09-4625-WBS-Timber-Frame-Epsitec-External-Wall-Insulation-System.pdf
https://www.kingspan.com/gb/en-gb/products/insulation-boards/insulation-boards/kooltherm/kooltherm-k5-external-wall-board
https://www.ejot.com/c/TKR-4-8/p/TKR-4_8
https://www.truelineproducts.co.uk/bellcast-beads/
https://ewistore.co.uk/shop/external-wall-insulation/hp12-base-coat-render-k-rend/
https://www.k-rend.co.uk/products/k-dash-receiver
https://derbyshireaggregates.com/pebble-dashing-products/
https://www.rawlplug.com/en/media/show/26883
https://trade.evo-stik.co.uk/sites/trade_evostik_uk/files/2020-01/TDS02023%20-%20EVO-STIK%20Building%20Silicone%20Sealant.pdf
http://www.bravoll.eu/15-bravoll-tit-60-5-20.html
https://www.rawlplug.com/en/media/show/26883
https://irp-cdn.multiscreensite.com/1002bb8f/files/uploaded/itwcp-product-guide-2012-spreads-low-0.pdf

